/)’Y\/ﬁi B:_]Eo'f" F]?\+/322'L+ e
wege educ. IQ

bwght S‘w@b‘.,\a} C"/'Col/)o,

fgl:i'ma,lja . j = Fo’}—/gl%l + U
N ad Np] > biased

Biag OLK/‘PGMJS e\ F'z_ a’mol CoxT . b/w 9{7\ (O'W\(H—fé)
a""d /)Cl (l’ﬂ/‘a/uJe&}

bwght W Oge €01uc’_ , No biag Lf
l{) %I S"’V‘OJCI’V\j/
o

2 FL =0
(_[_\> /—‘-)
UL (i’vlc_luclgg Z?_) G_) %2- uwvcory- W/ x

1q
aJcohal

(-)



Move  cowplicabe d derivaibion of bias wik

¢ ddl ex plowatery  vars.

- + (2"]9() ’F’FLZL"‘_Fszs”L QL |

8 ° : fo]fbca.l
Cvv- l"\/‘PuE 'Vﬁp’?’& cbrvcbuae C\/O{,I' iSm
(30 ves price<
LF %, cevy W[ oW
212.) 71:5 y.ot- 7 ly U
/

OLS e3tiwmeakor bigsed f)ov all F s Lf X



Oxher  Soevrces O,ﬁ bias

Mc&su«cw@v\k exroy 1M X o 3

(5.%. I WE ] dlﬁ%ﬁ@wffj | )

S M/)d/&@aﬂé)&\/
gd

—"

"Do\\’(e Crme

Swfle- SQ(FCE(M
Fdaka 0()3671/601 147[; Y > 'anrf'sl’w/a/

(@.3. tr@/@>

Twclusiom o7ﬁ (fof(cfeuowﬁ— afe%xessws:
— exercice < omkio

1

ey K

——
- Qcerdemts cleonol | owve,

11

WOGe eo‘uc.) 0 ccopatimn discrivnipabion



